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Practice Quiz 7

The ispLever-Generated Reports below apply to the questions on this quiz:

CHIP REPORT: REDUCED EQUATION REPORT:
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j 1: Positive-Polarity Equations:
s 7 X = IB&!DEAL!C # BED&A&!C # 'B&ID&I'A&C # B&D&!ASLC;
9 16 Y = B&D # 'A&!'C # AS&C;
10 i5
&% uorx Reverse-Polarity Equations:
il 12 IX = B&!'D # IB&D # 'Ag&!C # As&C;
'Y = ID&A&!C # !'B&A&!C # 'D&'A&C # !B&'AGC;

1. The fitter program chose the following form(s) of the reduced equatlons to burn mto the PLD
L.(A) the posmve polarlty forms of both X ana?‘ —2— matdn Clip re
(B) “the reverse polarity forms of both X and Y
(C) the positive polarity form of X and the reverse polarity form of Y ”
(D) the reverse polarity form of X and the positive polarity form of Y :
(E) none of the above £

2. The total number of P terms used by this Verilog program is:
(A) 3 (B) 4 ("(C) 7 j (D) 8 (E) none of these

3. A possible Verilog source form of the equation for X is:
(A) X=(B~D) & (A~*C);
(B)xX=(B"D) | (A~ C);

) x=B~"D & @)
D) x=(B~*D) | (A*C);
(E) none of the above

4. A possible Verilog source form of the equation for Y is:
@A) y=@n"c) | (B&D);
(B ¥

=@ ~~C) | (B&D); )
) Y=(~-a%~=<Cc) | (B&D);
D) t=(@~*c) &« (B | D);
(E) none of the above
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5. The orderi T in which dataflow equations appear in Verilog program does not matter.
( (A) true _' } (B) false



